Wea passt nicht dazu?

1 Birne 8 Tanne 9 Apfel 10

2 Zapfen 17 Fohre 18 Fichte 19
3 Mdrzenbecher 4 Maigléckchen 9 Marille 14
4 Primel 10 Kirsche 11 Zwetschke 12
5 Leberblimchen 3 Apfelbaum 1 Veilchen 3
6 Larche 17 Tanne 16 Tomate 18
7 Nelke 5 Banane 4 Kiwi 6

8 Himbeere 4 Heidelbeere 13 Linde 3

9 Birke 14 Erdbeere 13 Eiche 15
10 Stachelbeere 2 Tulpe 1 Krokus 3
11 Pfirsich 5 Barlauch 4 Ananas 6
12 Schlisselblume 6 Buche 7 Linde 8
13 Glockenblume 17 Kiefer 21 Nelke 19
14 Schneegléckchen 1 Weide 23 Léwenzahn 13
15 Sonnenblume 19 Kastanie 18 Walnuss 17
16 Traubenhyazinthe 2 Huflattich 21 Trauben 22
17 Buchecker 12 Eichel 10 Margerite 11
18 Ahorn 19 Weichsel 20 Pappel 18
19 Bockerl 11 Fichte 12 Zapfen 10
20 Esche 15 Hagebutte 14 Marille 2
21 Maroni 8 Eichel 9 Veilchen 7
22 Ganseblimchen 2 Primel 23 Linde 24
23 Sauer-Ampfer 15 Ldrche 16 Rose 20
24 Weide 9 Brombeere 8 Platane 10
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Frucht Blume Baum

1 Zapfen 21 1 24

2 Buche 9 19 14

3 Eichel 17 10 13

4 Huflattich 12 22 11

5 Linde 22 12

6 Veilchen 24 13

7 Fichte 14 7

8 Bockerl 9 15

9 Traubenhyazinthe 3 18 13
10 Walnuss 5 6 21
11 Ldrche 3 4 10
12 Hagebutte 1 11 5
13 Sauer-Ampfer 20 15 7
14 Platane 16 4 20
15 Nelke 24 17
16 Fohre (=Kiefer) 18 16
17 Buchecker 16 7
18 Zwetschke 23 19 15
19 Maroni 7 8 18
20 Eiche 21 1 3
21 Marzenbecher 22 12 9
22 Weichsel 19 14 20
23 Maigléckechen 10 4 2
24 Birke 23 17 11
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